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Cb= 40 cm fc'= 210 kg /cm’ Qa = 15 t/m’
Cd= 40 cm fy = 2800 kg cm’ T = 40 cm
PD= 45 t PL = 3.6 t d' = 7.5 cm
K ARG RS A
Areg= (PD+PL) /Qa = 3.2 n?
USE 180 X 180 cm > Areqg -OK. -

% RTETRERTESEN Qu
Qu= (1.4PD+1.7PL) /A = 21.33 t/m’
&

d = 32.50 cm Lo = 290.00 cm
Vu = Qu (A- (Cb+d) (Cd+d)) = 57.91 t
pVc= 0.85x1.06y fc'xLoxd= 123.06 t -OK. -
R
A'= L(0.5(B-Cd)-d) = 0.68 m’
Vu = Qu(A') = 14.40 t
¢ Ve= 0.85x0.53y fc'xBxd = 38.19 t -OK. -
==l
M = 0.5(Qu) [0.5(L-Cb) ]°= 5.23 t-m/m
As = 8.00 cm’/m
USE # 4 @ 15 -OK. -
Hnl
M = 0.5(Qu) [0.5(B-Cd) ]°= 5.23 t-m/m
As = 8.00 cm’/m

USE # 4 @ 15 -OK. -



